o (GeV]

Ratio to ATLAS

N
~

N
N

1.8

1.6

1.4

1.2

0.8

0.6

0.4

[EEY

0.5

7000 GeV pp Underlying Event
- I | T I T I T I T I T | T I T I T I T I T _|_
:_ Average p, VS N, (AWAY) (In| < 2.5, p_>0.5 GeV) _:
[ m ATLAS .
[ --3-- Herwig 7.2.0 default ]
—a— Pythia 8.205 default ~
¢ Sherpa 1.2.2p default ]
__ —E‘E BE—E“E‘E’Et
_ | [ | | | | | [ | | | | | |:
: T T T T | T T T T | T T T T |:
- ’*000ooooooooooo.ow---’q—

" 1 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 10 20 30

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


